Math 150 - 003   Test 2   Oct 10, 2001   Name: ………………………..

1. Divide   
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2. Find all intercepts and asymptotes of  
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3. Divide without the calculator:   
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4. Sketch the graph of  
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   by hand. How is the graph of 
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5. Find a polynomial of degree 4 with integer coefficients such that 
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 has zeros  
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 and  4 , with  4  being a zero of multiplicity 2.

6. Sketch the graph of the function  
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  ; describe its end behavior.

7. By hand, sketch the graph of  
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 . Find all intercepts.

8. Find the complete factorization of   
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